Montagehandleiding a2
0710 WASSO0 DU PONT

HANDEL EN MAATWERK
Technische Fiche

Art 590

Grass slides - Coulisses Grass

Product - Produit

® Laundry Bin 53 L - Paniera linge 531
* Solid base pull-out basket with full extension slides and soft closing.
* Panier extractible avec sortie totale et amortisseur:

Parts - Composants

A. Frame - Cadre

B. Bin 53 Lt - Panier 53 L

C. Door bracket - Equerre de facade
D. Metal Bracket - Equerre métallique
E. Cap - Bouchon

F. Slides - Coulisses

G. Cover - Couvercle

Tools - Outils

Fittings - Ferrure )
N°8 Self-tapping screws 4x16 mm - N° 8 Vis autotaraudeuses 4x16 mm
N°12 Cap Screws 4x13mm - N° 12 Vis 4x13 mm
N°2 M5x8 mm - N° 2 M5x8 mm

N° 4 M4x5 mm - N° 4 Méx5 mm

N°2 M6x10 mm - N°2 Méx10 mm

Sies Spa has the right te make chaness on it witheut netics - SigsSpaa ls reit d spperter des medificati

N°8 4x16

Place slides F respecting showed data and screw them on the cabinet’s sides, using 4x16 screws.
Placer les glissiéres F en respectant les données et les visser sur les cotés de ['armoire a l'aide des vis 4x16.

37 288 :
1,20] 32 20/ 32
b = i = —— ¢
11950
8
2
£
=
o
5
i 7

DU PONT BV | Bouwelven 16 1 B - 2280 Grobbendonk 1 03 464 00 91 1 info@du-pont.be 1 www.du-pont.be



Montagehandleiding a2
0710 WASSO0 DU PONT

Technische Fiche

N°8 4x13 H

Screw C brackets on the door respecting showed data, using 4X13 screws.
Visser les équerres C sur la porte en respectant les données a l'aide des vis 4x13.

\

=il

L
122

16

16

b4 4820

16

-

= \ 370 =

405

Fix the cover G in the slides F.
Fixer le couvercle G sur les coulisses F.

DU PONT BV | Bouwelven 16 1 B - 2280 Grobbendonk 1 03 464 00 91 1 info@du-pont.be 1 www.du-pont.be



Montagehandleiding a2
0710 WAS90 DU PONT

HANDEL EN MAATWERK
Technische Fiche

Right version - Version droite N°4 M4x5 a

Choose the version, assembly the frame A using M4x5 screws and put n°4 plastic cap E in the holes.
Choisir la version, monter le cadre A en utilisant les vis M4x5 et mettre n°4 bouchons plastiques E dans les trous.

Z N R
LEFT VERSION / ™~ /\ RIGHT VERSION
Version gauche // S / AN

\\\Version droite

/
/

A 5
&7 \
,o‘ TURN THE FRAME
‘ / Pivoter le cadre
B/

Fixing D brackets in A frame using M5x8 screws.
Fixer les équerres D sur le cadre A en utilisant les vis M5x8.

DU PONT BV | Bouwelven 16 1 B - 2280 Grobbendonk 1 03 464 00 91 1 info@du-pont.be 1 www.du-pont.be



Montagehandleiding a2
0710 WAS90 DU PONT

HANDEL EN MAATWERK
Technische Fiche

N°2 Méx10 H

Fixing door on the cover G.
Fixer la porte sur le couvercle G.

N°2 4x13 H

Fixing brackets D on the door, using 4X13 screws.
Fixer les équerres D sur la porte a l'aide des vis 4x13.

Make adjustments.
Effectuer régulations.

=

| 0
|00

DU PONT BV | Bouwelven 16 1 B - 2280 Grobbendonk 1 03 464 00 91 1 info@du-pont.be 1 www.du-pont.be



